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Question Number : 436 Question Id : 226895667916 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Whether to use more resources in education and health or to use more resources in building military services. Which of
the central problems of an economy is accurate for this?

1. How to produce?
2. What to produce?
3. Whom to produced?
4. Where to produced?

Options :

2268952589478. 1
2268952589479.2
2268952589480. 3
2268952589481. 4

Question Number : 436 Question Id : 226895667916 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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Options :

2268952589478. 1
2268952589479. 2
2268952589480. 3
2268952589481. 4



Question Number : 437 Question Id : 226895667917 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

The collection of all possible combinations of the goods and services that can be produced from a given amount of
resources and a given stock of technological knowledge is called?

1. Production Possibility Frontier
2. Isoquant Curve

3. Production Possibility Set

4. Isocost Line

Options :

2268952589482. 1
2268952589483.2
2268952589484. 3
2268952589485. 4

Question Number : 437 Question Id : 226895667917 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

TRgAT <R Farsfl & Tt Guifad SareH! &1 Yo o dareH! @1 U@ FiSh o R 9o o] 99 aR1 Sdliad fodl off
ohdl &, 38 o1 gl il 82

1. IIGA GHIGAT 9
2. G 9HE 3%

3. 3aTe GHIE 92
4, GHARTE 341

Options :

2268952589482. 1
2268952589483.2
2268952589484. 3
2268952589485. 4

Question Number : 438 Question Id : 226895667918 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
With the shifting demand curve leftward, arrange the following statement in sequential order.
{A) At any given price, demand is less.
(B) Excess supply will be there.
{C) Some producers will decrease the prices of commodity.
(D) At new equilibrium, quantity and price will be less.

Choose the correct answer from the options given below:

Options :
2268952589486. 1
2268952589487.2



2268952589488. 3
2268952589489. 4

Question Number : 438 Question Id : 226895667918 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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1. (B), (A), (©), (D)
2. (A), (C). (B). (D)
3. (B). (A). (D). ()
4. (D), (B), (), (A)

Options :

2268952589486. 1
2268952589487. 2
2268952589488. 3
2268952589489. 4

Question Number : 439 Question Id : 226895667919 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Match List-1 with List-1l

List-1 List-11

(A) Analysis assumes that level of utility can be expressed in numbers. (1) Cardinal Utility

1} Law of Diminishin
(B) Change in total utility due to consumption of cne additional unit of a commodity [} . i g
Marginal Utility.

(C) Marginal utility from consuming each additional unit of a commodity declines as its . .
e (1) Marginal Utility
consumption increases.

(D) The amount of mangoes that the consumer has to forego in order to get an (IV) Marginal rate of
additional banana, her total utility level being the same. substitution

Choose the correct answer from the options given below:

1. (A) -
2. (A) -
3. (A) -
4. (A) -

0, (B) - (), (C) - (1), (D) - (IV)
0. (B) - (1), (C} - (), (D) - (V)
(1), (B) - (1N, (C) - (1V), (D) - (1)
(. 8y - (v}, (@ - (0. (D) - (1)

Options :

2268952589490. 1
2268952589491.2
2268952589492. 3



2268952589493. 4

Question Number : 439 Question Id : 226895667919 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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1. (A1), (BY-(11), (C)-(11), (D)-(1V)
2. (A)-(1), (B)-(11), (©)-(11), (D}-(1V)
3. (A)-(1) (BY-(1N), (C)-(1V). (D)-(1)
4. (A)-(1), (B)-(V), (Q-(1), (D)-(11)
Options :

2268952589490. 1
2268952589491.2
2268952589492. 3
2268952589493. 4

Question Number : 440 Question Id : 226895667920 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Budget Set is

1. Given the prices of the goods and the income of a consumer.
2. Any bundle as long as it costs less than or equal to the income
3. A set of price available to producer.

4. Set of bundles available to the consumer

Options :

2268952589494. 1
2268952589495.2
2268952589496. 3
2268952589497. 4

Question Number : 440 Question Id : 226895667920 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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Options :
2268952589494. 1



2268952589495. 2
2268952589496. 3
2268952589497. 4

Question Number : 441 Question Id : 226895667921 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Find the correct statement/statements.

{A) Goods which are consumed together are called complementary goods.

{B) The market demand curve can be derived as a vertical summation of the individual demand curves.

{C) Price elasticity of demand is a measure of the responsiveness of the demand for a good to changes in its price.
(D) If the consumer’s preferences change in favor of a good, the demand curve for such a goad shifts leftward.
Choose the correct answer from the options given below:

1. {(A) and (C) only

2. (A), (B) and (C) only
3.(A) and (D) Only

4. (B), (C) and (D) only
Options :
2268952589498. 1
2268952589499. 2

2268952589500. 3
2268952589501. 4

Question Number : 441 Question Id : 226895667921 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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Options :

2268952589498. 1
2268952589499. 2
2268952589500. 3
2268952589501. 4

Question Number : 442 Question Id : 226895667922 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



The relation between the consumer’s optimal choice of the quantity of a good and its price is called ?

1. Supply function
2. Demand Function
3. Cost Function

4. Output function

Options :

2268952589502. 1
2268952589503. 2
2268952589504. 3
2268952589505. 4

Question Number : 442 Question Id : 226895667922 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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Options :

2268952589502. 1
2268952589503. 2
2268952589504. 3
2268952589505. 4

Question Number : 443 Question Id : 226895667923 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Match List-1 with List-1l

List-1 List-11

(A) Relationship between the variable input and output. (I} Average Product

(B) Output per unit of variable input. (1) Marginal Product

(C) Change in output per unit of change in the input (1) Law of variable proportions
(D) The marginal product of a factor input initially rises with its employment level|(IV) Total Product

Choose the correct answer from the options given below:

1. (A) - V), (B) - (1), (©) - (), (D) - (1)
2. (A) - (1, (B) - (), (C) - (), (D) - (IV)
3. (A) - (0, (B) - (1), (C) - (IV), (D) - (1)
4. (A) - (), (B) - (IV), (@) - 0, (D) - (I

Options :

2268952589506. 1
2268952589507.2
2268952589508. 3



2268952589509. 4

Question Number : 443 Question Id : 226895667923 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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1. (A)-(V). (B)-(1), {C)-(1). (D)-(111)
2. (A)-(), (B)-(11), (©)-(1), (D)-(1V)
3. (A)-(. (B)-(1), (C)-(1V), (D)-(111)
4. (A)-(m), (B)-(1v), (C)-(1), (D)-(1N)
Options :

2268952589506. 1

2268952589507. 2

2268952589508. 3

2268952589509. 4

Question Number : 444 Question Id : 226895667924 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

In the long run

1. At least one of the factor varied.

2. All factors of production can be varied.
3. Factor remains fixed.

4. Only one factor can vary.

Options :

2268952589510. 1
2268952589511. 2
2268952589512. 3
2268952589513. 4

Question Number : 444 Question Id : 226895667924 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

HEEa e T

1. B9 Y $H U HRS URad eidl ol
2. 3G & 9l $RS URad gid &
3. BR® RR | 8l

4. $dd U RS Udd oidl &l

Options :
2268952589510. 1
2268952589511.2



2268952589512. 3
2268952589513. 4

Question Number : 445 Question Id : 226895667925 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

The difference between the revenue and cost is known as

1. Cost of Production
2. Input cost

3. Marginal Cost

4. Profit

Options :

2268952589514. 1
2268952589515.2
2268952589516. 3
2268952589517. 4

Question Number : 445 Question Id : 226895667925 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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Options :

2268952589514. 1
2268952589515.2
2268952589516. 3
2268952589517. 4

Question Number : 446 Question Id : 226895667926 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

of an input is defined as the change in output per unit of change in the input when all other inputs are
remain constant.

1. Marginal Product.
2. Average Product.
3. Total Product.

4. Returns to Scale.

Options :

2268952589518. 1
2268952589519.2
2268952589520. 3
2268952589521. 4

Question Number : 446 Question Id : 226895667926 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No



Correct Marks : S Wrong Marks : 1
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Options :

2268952589518. 1
2268952589519. 2
2268952589520. 3
2268952589521. 4

Question Number : 447 Question Id : 226895667927 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Consider the production function g = f(xy, x2) where the firm produces q amout of output xy amount of factor 1 and
x3 amount of factor 2. The firm decides to increase the employment level of both the factors t (t =1). Identify the
equation for decreasing returns to scale from the following:

1.q=f(1.x2)

2.f (o, 0z) = tf Gy, x2)
3. f(txr, txa) < &f (x7.,x2).
4. fitxy, tez) > tfxy, x2)

Options :

2268952589522. 1
2268952589523. 2
2268952589524. 3
2268952589525. 4

Question Number : 447 Question Id : 226895667927 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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1.9 =fx1,x2)

2. f(xT, 02) = tf (1, x2)
3. f(txT, tx2) < tf(xT, x2)
4. feoel, tx2) = tf(xT,x2)

Options :

2268952589522. 1
2268952589523.2
2268952589524. 3
2268952589525. 4

Question Number : 448 Question Id : 226895667928 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



The change in total cost per unit of change in output is known as by which name

1. Average Cost

2. Variable Cost

3. Fixed Cost

4. Short Run Marginal Cost

Options :

2268952589526. 1
2268952589527.2
2268952589528. 3
2268952589529. 4

Question Number : 448 Question Id : 226895667928 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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Options :

2268952589526. 1
2268952589527.2
2268952589528. 3
2268952589529. 4

Question Number : 449 Question Id : 226895667929 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Shape of Average Fixed Cost Curve is:

1. Constant

2.'U’ Shaped.

3. Rectangular Hyperbola
4. Reverse Hyperbola

Options :

2268952589530. 1
2268952589531.2
2268952589532. 3
2268952589533. 4

Question Number : 449 Question Id : 226895667929 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 5 Wrong Marks : 1
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Options :

2268952589530. 1
2268952589531. 2
2268952589532. 3
2268952589533. 4

Question Number : 450 Question Id : 226895667930 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 5 Wrong Marks : 1

Marginal cost curve intersects average cost curve at ..........

1. At maximum point of average cost curve.

2. At minimum point from of average cost curve.

3. Do not intersect.

4. Intersect at mid point at rising average cost curve.

Options :

2268952589534 1
2268952589535.2
2268952589536. 3
2268952589537. 4

Question Number : 450 Question Id : 226895667930 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : S Wrong Marks : 1
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Options :

2268952589534 1
2268952589535.2
2268952589536. 3
2268952589537. 4

Question Number : 451 Question Id : 226895667931 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 5 Wrong Marks : 1



The point on the supply curve at which a firm earns only normal profit is called ............

1. Break-even point.

2. Average Profit.

3. Long Run Average Cost.
4. Fixed Cost.

Options :

2268952589538. 1
2268952589539. 2
2268952589540. 3
2268952589541. 4

Question Number : 451 Question Id : 226895667931 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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Options :

2268952589538. 1
2268952589539.2
2268952589540. 3
2268952589541. 4

Question Number : 452 Question Id : 226895667932 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
Which of the following conditions must hold for a firm to maximise its profit.
{A) Price= Short run marginal Cost
(B) Short Run marginal cost curve is non-decreasing
{C) Price = Marginal Cost
(D) Price = Average variable cost

Choose the correct answer from the options given below:

1. (B), (C) and (D) only
2. (A), (B} and (C) only
3. (A), (B, (©) and (D)
4. (A), (B) and (D) only
Options :
2268952589542 1
2268952589543.2

2268952589544. 3
2268952589545. 4



Question Number : 452 Question Id : 226895667932 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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Options :

2268952589542. 1
2268952589543.2
2268952589544. 3
2268952589545. 4

Question Number : 453 Question Id : 226895667933 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

How does technological progress affect the firms' supply curve?

1. Shift to the right.

2. Shift to the left.

3. Remain at same place.
4. Shift in vertical shape.

Options :

2268952589546. 1
2268952589547.2
2268952589548. 3
2268952589549. 4



Question Number : 453 Question Id : 226895667933 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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Options :

2268952589546. 1
2268952589547.2
2268952589548. 3
2268952589549. 4

Question Number : 454 Question Id : 226895667934 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Suppose an individual buy 30 bananas when its price is Rs. 10 per banana. When the price increases to Rs. 14 per
banana, she reduces her demand to 24 bananas. In this case what will be the price elasticity of demand?

1.03
2.0.2
3.05
4.04

Options :

2268952589550. 1
2268952589551.2
2268952589552 3
2268952589553. 4

Question Number : 454 Question Id : 226895667934 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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1.03
2.0.2
3.05
4.04

Options :

2268952589550. 1
2268952589551. 2
2268952589552. 3
2268952589553. 4

Question Number : 455 Question Id : 226895667935 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



Which of the following is an example of floor price?

1. Minimum Support Price for Foodgrain
2. Price printed on any article,

3. Price taken by Seller

4. Price asked by buyer to buy.

Options :

2268952589554. 1
2268952589555.2
2268952589556. 3
2268952589557. 4

Question Number : 455 Question Id : 226895667935 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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Options :

2268952589554 1
2268952589555.2
2268952589556. 3
2268952589557. 4

Question Number : 456 Question Id : 226895667936 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : S Wrong Marks : 1

Who is the author of "The General Theory of Employment, Interest and Money"?

1. Adam Smith.

2. David Recardo.

3. L5 Mill.

4. John Maynard Keynes

Options :

2268952589558. 1
2268952589559.2
2268952589560. 3
2268952589561. 4

Question Number : 456 Question Id : 226895667936 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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Options :

2268952589558. 1
2268952589559. 2
2268952589560. 3
2268952589561. 4

Question Number : 457 Question Id : 226895667937 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

If all the people of the economy increase the proportion of income they save, the total value of savings in the economy
will not increase — it will either decline or remain unchanged. This result is known as ......

1. Multiplier Mechanism.
2. Paradox of Thrift,

3. Deficient Demand.

4. Investment.

Options :

2268952589562. 1
2268952589563.2
2268952589564. 3
2268952589565. 4

Question Number : 457 Question Id : 226895667937 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

gfe; sfegaeyl & GHi T S(UHT 1Y ¥ §ad o SFUId DI dgl & al HUHaR H g9d & Do Ged H gl 81 61l 31Ul -
SO T df gud H oA e 41 78 srafafda g | 53 oRomm &1 70 @el 91l 62

1. 70T Gifddl

2. fieafyar &1 faRiurymg
3. T B B

4. Fam

Options :

2268952589562. 1
2268952589563.2
2268952589564. 3
2268952589565. 4

Question Number : 458 Question Id : 226895667938 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



To measure consumer price index (CPI) which of the following years are taken into consideration?
{A) Current Year.

(B) Preceeding Year.

(C) Base Year.

(D) Succeeding Year.

Choose the correct answer from the options given below:

1. (A), (B) and (D) only
2. (A) and (C) only

3. (A), (B) and (C) only
4. (B), (C) and (D) only

Options :

2268952589566. 1
2268952589567. 2
2268952589568. 3
2268952589569. 4

Question Number : 458 Question Id : 226895667938 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

JUIE Hed Yadio (CPI) B AU o fog Fgieiad | ¥ oy ad &! &= H 3@l oiidl 6
(A) Ay

(8) e gy

(C) SYR a4

(D) 3Ta a4

4 feg Y el § 3 w8l 3w 9|

1.®dd (A), (B) IR (D)
2.%ad (A) 3R (Q)

3.4 (A), (8) 3R (C)
4.%4d (B), (C) 3R (D)

Options :

2268952589566. 1
2268952589567. 2
2268952589568. 3
2268952589569. 4

Question Number : 459 Question Id : 226895667939 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



The index of prices of a given basket of commodities which are bought by the representative consumer is known as :

1. Consumer Price Index
2. Wholesale Price Index.
3. Capital Good Index.

4. Inflation.

Options :

2268952589570. 1
2268952589571. 2
2268952589572. 3
2268952589573. 4

Question Number : 459 Question Id : 226895667939 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

FEgell @1 & TS il @l B 1Hd YEdie o ufaffY Suvied aR1 %9 fea i 8, 6y w0 F S i 82

1. B I Gadhid
2. 41% e YD1

3. Yo'l aqU gadih
4. FETEHITd

Options :

2268952589570. 1
2268952589571.2
2268952589572. 3
2268952589573. 4

Question Number : 460 Question Id : 226895667940 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Match List-1 with List-1l

List-1 List-11

(A) Gross Domestic Product at Market Price  [(1) NDPyp - Net Product Taxes - Net ProductionTaxes

(B) Net Domestic Product at Factor Cost (11} GVA at basic prices - Net Production Taxes

(C) GVA(Gross Value Added) at factor cost (1) C+1+GHX-M)

(D) Gross National Product at Factor Cost  [{IV) GNPy - Net Product Taxes - Net Production Taxes

Choose the correct answer from the options given below:

1. (A) - (), (B) - (1), (C) - (U, (D) - (V)
2.(A) - (), (8) - (1), (C) - (), (D) - (V)
3. (A) - (0, (B) - (I, (C) - (V). (D) - (1)
4. (A) - (1, (B) - (V). (Q) - (). (D) - ()

Options :

2268952589574 1
2268952589575.2
2268952589576. 3
2268952589577. 4



Question Number : 460 Question Id : 226895667940 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

-1 B G-l & 1Y e Sifog

-1 -1

(A) SR D Hdl IR Hhdl IRl 341G (1) ISR BHGl IR L& T SUIG - Fael Idg H - Fad Ided a2

(B) BR® AFd R IS U 3dIG (1) 3T Bd R I&Hd I df - fFad Iared @

(C) R AFd R Tdve Tod 9f5 (GVA) ()EC+1+G+ (X-M)

(D) PR TFId R FHT AP MG (GNP) (V) TSR B4l TR IHa AP IATG - a0 31g I - FHaa Iag Y

i feu e fgeedl | 9 |8l IR -

1. (A)-(1). (B)-(1), (-1, (B)-(V)
2. (A)-(n), (B)-(1), (©)-(, (D)-(1v)
3. (A)-(1). (B)-(1), (Q)-(V). (D)-(111)
4. (A)-(), (B)-(1v), (O)-(). (D)-(1N)

Options :

2268952589574. 1
2268952589575.2
2268952589576. 3
2268952589577. 4

Question Number : 461 Question Id : 226895667941 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

When goods and services are evaluated at constant prices, the measured value is known as ........

1. Nominal GDP.
2. Inventory.

3. Inflation.

4. Real GDP.

Options :

2268952589578. 1
2268952589579. 2
2268952589580. 3
2268952589581. 4

Question Number : 461 Question Id : 226895667941 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

g gl AR Ydredl T gegid fRR S19dl U= faar S &, df 9191 191 5 dedldl ol

1. NEP Yoo IR IATE (S
2. -Gt

3. gaEpifd

4. GRGTa® Gdd Ue] 3dTG (STarh

Options :

2268952589578. 1
2268952589579.2
2268952589580. 3



2268952589581. 4

Question Number : 462 Question Id : 226895667942 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Among the following, which are the functions of money?
{A) Medium of exchange.

(B) Unit of account.

(C) Bartering

(D) Store of value

Choose the correct answer from the options given below:

1. (A), (B) and (D) only
2. (A), (B) and (C) only
3. (A), (B), (C) and (D)

4. (B), (C) and (D) only

Options :

2268952589582. 1
2268952589583. 2
2268952589584. 3
2268952589585. 4

Question Number : 462 Question Id : 226895667942 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Fed U gE & o &7

(a) fafog &1 g1ag

(B) TET I T gbTg

(C) TG fafr

(D) HeG BT HSR

id few e fasedl 3 § |Et IR 7

1. ad (A), (B) IR (D)
2.%4ad (A), (B) 3R (O)
3. (A), (B), (Q) 3 (D)

4.%4d (B), (C) 3R (D)

Options :

2268952589582. 1
2268952589583. 2
2268952589584. 3
2268952589585. 4

Question Number : 463 Question Id : 226895667943 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



Money deposited in the banks are considered of the banks.

1. Asset.

2. Net Worth.

3. Liabilities.

4. Statuary Liquid Ratio.

Options :

2268952589586. 1
2268952589587.2
2268952589588. 3
2268952589589. 4

Question Number : 463 Question Id : 226895667943 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

B! § ST o7 B db! B/ B ICiRE I

1. STl

2.4 ay

3. eIt

4, AT TR U

Options :

2268952589586. 1
2268952589587. 2
2268952589588. 3
2268952589589. 4

Question Number : 464 Question Id : 226895667944 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Match List-1 with List-1l

List-1 List-11

(&) Cash Reserve Ratio (CRR) (1) Central Bank of the Country

(I} The interest rate at which the money lent by Central

B) Statutory Liquidity Ratio (SLR).
(B) Statutory Liguidity Ratio (SLR) Pk

(C) Lender of last resort: (Il Percentage of deposits which must kept as cash
reserves with the Central bank.

(D) Repo Rate {IV) Reserves in liquid form in the short term

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (), {C) - (1), (D) - (IV)
2. (A) - (1, (B) - (1, (©) - (0, (B) - (V)
3. (A) - (W), (B) - (1), (C) - (1), (D) - ()
4. (A) - (), (B) - (V). (@ - (. (D) - (1)

Options :
2268952589590. 1
2268952589591. 2



2268952589592. 3
2268952589593. 4

Question Number : 464 Question Id : 226895667944 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

-1 BT G-Il B 1Y e Bifeg

-1 -1
(A) THG BIY U (CRR)  |(1) O BT HEld 8B
(B) dUTHd TREIdT 3FUI (SLR)|(1) 98 <419 & ol IR iy d& gRT 84 YR fear Ja g1

(
(C) T IRYT FHUEE (I11) ST @1 Ufa=d ol UF §& & daid 9@ & Uy AR 71 & €0 3 3G difet|
(

OELIES V) e T § aiaral & ©U § RIE" &
it ey 71 faeedl § 9 et Soe JH |
1. (A)-(11), (B)-(l), (C)-(D, (D)-(IV)
2. (A)-(, (B)-(1), (C)-(1), (D)-(1V)
3. (A)-(1V), (B)-(11), (G-(1). (D)-(111)
4. (A)-(l, (B)-(IV), (O)-(1), (D)-(1)
Options :

2268952589590. 1
2268952589591.2
2268952589592. 3
2268952589593. 4

Question Number : 465 Question Id : 226895667945 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Currency notes and coins are called:

1. Fiat Money

2. Broad Money
3. Currency Base
4. Narrow Money.

Options :

2268952589594. 1
2268952589595. 2
2268952589596. 3
2268952589597. 4

Question Number : 465 Question Id : 226895667945 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Sl 1] IR fhge| Bl Bl HId 6

1. TSI Hg
2. T ® &l
3. ! YR

4. Hphad Hg1

Options :
2268952589594. 1
2268952589595.2



2268952589596. 3
2268952589597. 4

Question Number : 466 Question Id : 226895667946 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 5 Wrong Marks : 1

Ex-post is depicted by which of the following ........

1. What actually has happened.
2. What actually will happen?
3. What is actually planned?

4. What should plan be,

Options :

2268952589598. 1
2268952589599. 2
2268952589600. 3
2268952589601. 4

Question Number : 466 Question Id : 226895667946 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : S Wrong Marks : 1

gy @) Fufaied § © e gr cwtar o &

1. il ara § g &t

2. S g H gAT

3. 9rad & off P gen 8
4. QST &1 g 9B

Options :

2268952589598. 1
2268952589599.2
2268952589600. 3
2268952589601. 4

Question Number : 467 Question Id : 226895667947 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

When governments intervene in the market to expand or reduce the demand, this course of action is .......

1. Allocative Function
2. Distribution Fuction
3. Stabilization Function
4. Fiscal Function.

Options :

2268952589602. 1
2268952589603. 2
2268952589604. 3
2268952589605. 4

Question Number : 467 Question Id : 226895667947 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 5 Wrong Marks : 1



Old WRBR 1 B (TR S U1 HH D & (oY GI9R H g Bl o, dl g Idly a6 & oildl & 9 SaR SHd]
SR &l Bl

1. 3ded B
2. faqu e
3. e o
4. JeHNE

Options :

2268952589602. 1
2268952589603. 2
2268952589604 3
2268952589605. 4

Question Number : 468 Question Id : 226895667948 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

The difference between the value of exports and the value of imports of goods of a country in a given period of time is
known as by what name?

1. Balance of Trade

2. Balance of Payment

3. Capital Account Deficit
4. Net Invisibles.

Options :

2268952589606. 1
2268952589607. 2
2268952589608. 3
2268952589609. 4

Question Number : 468 Question Id : 226895667948 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

foodit &1 & Fiffa Toamafa o Fafa & g 3R omd & 9od & dd & ofdR @ faeg 918 I ST o1 87

1. IR o

2. HEIfl-gdeH
3. doll @ grer
4. Frad e 0

Options :

2268952589606. 1
2268952589607. 2
2268952589608. 3
2268952589609. 4

Question Number : 469 Question Id : 226895667949 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



Arrange the following steps of estimation of National Income by income method in the proper sequence.
{A) Identification and classification of producing firms.

(B) Estimation of NDPgc

{(C) Estimation of NNPgc.

(D) Classification of factor Income.

Choose the correct answer from the options given below:

Options :

2268952589610. 1
2268952589611. 2
2268952589612. 3
2268952589613. 4

Question Number : 469 Question Id : 226895667949 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

3 faftl g1 APt 3 &1 0T & FafdiEd =Rl i Sfad %4 H waied i
(A) SAITGE BHI &I UgdH R S BI

(B) PRE T T I T IATG P SpaT
(C) PR AT R Y& PG IATE BT SHiderH
(D) TIEA 3T & FIEHIIT

Htd fGu e fdeedl § 9 wé IR |

Options :

2268952589610. 1
2268952589611. 2
2268952589612. 3
2268952589613. 4

Question Number : 470 Question Id : 226895667950 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



Arrange the following conditions from most to least liquid form:
{A) Currency + Demand Deposit+Savings deposits with Post Office savings banks.

(B) Currency + Demand Deposit + Net time deposits of commercial banks.+ Total deposits with Post Office savings
organizations.

(C) Currency + Demand Deposit.
(D) Currency + Demand Deposit + Net time deposits of commercial banks.
Choose the correct answer from the options given below:

1.(A), (B). (O). (D)
2.(Q). (A). (D), (B)
3. (B). (A). (D). (O)
4. (Q). (B). (D). (A)

Options :

2268952589614. 1
2268952589615. 2
2268952589616. 3
2268952589617. 4

Question Number : 470 Question Id : 226895667950 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

FHufaRad Rufaal @ sftiean ¥ gHdH qRdd] & 5HH H ogdieyd i

(A) 5T + AT S + SIPR Fo depl H gad SHIL

(B) T&T + Ti¥T oH1 + qiivifcdad debf @1 Fad H1afie 9ol + SIHR g9d Y[l § S w1l
(C) I&T + | &H1

(D) H&T + HIT HT + A0 @ dobl Bl fHdd Hafte s

g feu T fomedl O wEt SR I

1.(A) (B), (O (D)
2. (). (A). (D), (B)
3. (B). (A), (D). (O)
4. (), (B). (D), (A)

Options :

2268952589614. 1
2268952589615.2
2268952589616. 3
2268952589617. 4

Question Number : 471 Question Id : 226895667951 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



Suppose an Indian manufacturer of steel acquires a steel manufacturing unit in Europe. This type of transacticns are
recorded in which of the following.

1. Current Account.
2. Capital Account
3. Capital Market
4. Net Invisibles.

Options :

2268952589618. 1
2268952589619. 2
2268952589620. 3
2268952589621. 4

Question Number : 471 Question Id : 226895667951 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

O dife i ue YR sETd fafmfar Z3i0 & e 3wrd (i 3@rE &1 SiftEE0 $dl 8. 39 SR & d-od @
Fafaiad & feud ol fasar smem|

1. T AT

2. Uil @il
3. §ofl F9IR

4. S I IS

Options :

2268952589618. 1
2268952589619. 2
2268952589620. 3
2268952589621. 4

Question Number : 472 Question Id : 226895667952 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

In deficit condition of Balance of Payment if the central bank sells foreign exchange then this particular transaction is
known as ......

1. Official reserve sale.
2. Portfolio Investment.
3. Net Invisibles.

4. Net factor income.

Options :

2268952589622. 1
2268952589623.2
2268952589624. 3
2268952589625. 4

Question Number : 472 Question Id : 226895667952 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



YIAH SqoH & g1e ! Rufa # afg S 9 faczh gerd9adr & di 39 fa8i9 d-e of {69 &9 H 9F 96 &

1. TSRS HRIER faet
2. Uiewifem! fFHam
3. e aexg we
4. FHgd greq A

Options :

2268952589622. 1
2268952589623. 2
2268952589624. 3
2268952589625. 4

Question Number : 473 Question Id : 226895667953 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

When an individual buys foreign goods, this spending is known as ...

1. Injection in the economy.
2. Exchange rate market.

3. Leakages from economy.
4. Direct investment.

Options :

2268952589626. 1
2268952589627.2
2268952589628. 3
2268952589629. 4

Question Number : 473 Question Id : 226895667953 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

o D3, Aidd [l [dadll 9% @I el 5, dl 38 Gd @ (b8 Y H S Sildl &:

1. 3faraw 7 3id &g
2. faFg eX 9uR

3. Siforawy § e
4. g Fam

Options :

2268952589626. 1
2268952589627.2
2268952589628. 3
2268952589629. 4

Question Number : 474 Question Id : 226895667954 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



With keeping tax rate (T) constant if government purchases(G) increase, then arrange the following statement
considering the effect on total income and output.

(A) Rise in Plan Aggregate expenditure.

(B) Government runs a deficit when G exceeds T.

(C) Equilibrium income level increased.

(D) Aggregate demand schedule shifts upward.

Choose the correct answer from the options given below:

1.(B). (A). (D). (O)
2. (A), (C). (B), (D
3. (A), (B). (D). (C
4. (Q). (B). (D). (A)

I

[

Options :

2268952589630. 1
2268952589631.2
2268952589632. 3
2268952589633. 4

Question Number : 474 Question Id : 226895667954 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

@ &Y (T) DI R 3G gL Al WBR GG (G) 9okl ¢, I Pl S R i 1R yUIE & @1 U 39d gu Hyfiad &
Tafeyd Py

(A) GISFTES T5%d 390 ¥ 9fg B &l

(B) W& G, T ¥ 38 Bl § ol SXPR UI¢ &I dg- Bl 8l
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A). (€. (B). (D)
A), (B), (D), (C)

(
(
( (

(C). (B), (D), (A)

i
%
3.
4.

Options :

2268952589630. 1
2268952589631. 2
2268952589632. 3
2268952589633. 4

Question Number : 475 Question Id : 226895667955 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



Arrange the following steps of calculation of National income in sequence.
{A) Deduction of intermediate cost

(B) Estimation of value of output

{C) Add net factor income from abroad

(D) Deduction of depreciation and NIT

Choose the correct answer from the options given below:

1. (A), (B), (C
2. (A), (C), (B
3. (B), (A), (D
4. (), (D), (A),

Options :

2268952589634. 1
2268952589635. 2
2268952589636. 3
2268952589637. 4

Question Number : 475 Question Id : 226895667955 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

AP 37 T PR ob FHARE 901 P oaieyd Biferg|
(A) HEIG] o4 &I geHl|

(B) MG & ed & ATHTH|

(c) fac=Il 9 Frad Wieq oy &l Siis|

(D) TTIER 3R 9 S1ucsl T 3 ger Il

a5y e el § € wél I |

Options :

2268952589634. 1
2268952589635. 2
2268952589636. 3
2268952589637. 4

Sub-Section Number : 2
Sub-Section Id : 22689527346
Question Shuffling Allowed : No

Question Id : 226895667956 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (476 to 480)



OUTPUT AND EMPLOYMENT

The equilibrium output in the economy also determines the level of employment, given the quantities of other factors of
praduction (think of a production function at aggregate level). This means that the level of output determined by the equality of
Y with AD does not necessarily mean the level of output at which everyone is employed. Full employment level of income is that
level of income where all the factors of production are fully employed in the production process. Recall that equilibrium attained
at the point of equality of Y(Income) and AD by itself does not signify full employment of resources. Equilibrium only means
that, if left to itself, the level of income in the economy will not change even when there is unemployment in the economy. The
equilibrium level of output may be more or less than the full employment level of output. If it is less than the full employment of
output, it is due to the fact that demand is not enough to employ all factors of preduction. This situation is called the situation
of deficient demand. It leads to a decline in prices in the long run. On the other hand, if the equilibrium level of output is more
than the full employment level, it is due to the fact that the demand is more than the level of output produced at full
employment level. This situation is called the situation of excess demand. It will lead to a rise in prices in the long run.

Sub questions

Question Number : 476 Question Id : 226895667957 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

Level of employment is determined by which of the following?

1. Output Eqilibrium.

2. Factor of Production

3. Capital Employed.

4. Availability of Raw Material.

Options :

2268952589638. 1
2268952589639. 2
2268952589640. 3
2268952589641. 4

Question Number : 477 Question Id : 226895667958 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Full employment level is the level where .......

1. Everyone in the economy got employment

2. Maximum Capital investment.

3. all the factors of production are fully employed in the production process.
4. Excessive Demand.

Options :

2268952589642. 1
2268952589643.2
2268952589644. 3
2268952589645. 4

Question Number : 478 Question Id : 226895667959 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1



The level of output is determined by the .....

1. Full Employment.

2. Excessive Demand.

3. Marginal Output.

4. Equality of Income (Y) with Aggregate Demand (AD)

Options :

2268952589646. 1
2268952589647. 2
2268952589648. 3
2268952589649. 4

Question Number : 479 Question Id : 226895667960 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : S Wrong Marks : 1

If output equilibrium is less than the full employment level, then this condition is known as:

1. Deficient Demand.
2. Constant Demand.
3. Marginal Demand.
4. Aggregate Demand.

Options :

2268952589650. 1
2268952589651.2
2268952589652. 3
2268952589653. 4

Question Number : 480 Question Id : 226895667961 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Excess demand is the situation where ......

1. Output level is less than the full employment level.

2. Output level is equal to the full employment level.

3. Demand is more than output level at full employment level.
4. Output level is marginally increasing.

Options :

2268952589654. 1
2268952589655.2
2268952589656. 3
2268952589657. 4

Question Id : 226895667956 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (476 to 480)
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Sub questions

Question Number : 476 Question Id : 226895667957 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

AR 1 TR Ffeiea & @ feas gy Fuffa e sar g2

1. Frfaam

2. 3dGH & BRS

3. ISR Gt

4. T AT ®1 IUARAT

Options :

2268952589638. 1
2268952589639. 2
2268952589640. 3
2268952589641. 4

Question Number : 477 Question Id : 226895667958 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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1. rfomaey § yd@ &I AR e g

2. Jfirmay defl fFae
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Options :

2268952589642. 1
2268952589643. 2
2268952589644. 3
2268952589645. 4

Question Number : 478 Question Id : 226895667959 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
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Options :

2268952589646. 1
2268952589647.2
2268952589648. 3
2268952589649. 4

Question Number : 479 Question Id : 226895667960 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : S Wrong Marks : 1
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Options :

2268952589650. 1
2268952589651.2
2268952589652. 3
2268952589653. 4

Question Number : 480 Question Id : 226895667961 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 5 Wrong Marks : 1
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Options :

2268952589654. 1
2268952589655. 2
2268952589656. 3
2268952589657. 4

Sub-Section Number : 3
Sub-Section Id : 22689527347
Question Shuffling Allowed : No

Question Id : 226895667962 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (481 to 485)



GS5T: One Nation, One Tax, One Market

Goods and Service Tax (GST) is the single comprehensive indirect tax, operational from 1 July 2017, on supply of goods and
services, right from the manufacturer/ service provider to the consumer. It is a destination based consumption tax with facility of
Input Tax Credit in the supply chain. It is applicable throughout the country with one rate for one type of goods/service. It has
amalgamated a large number of Central and State taxes and cesses. It has replaced large number of taxes on goods and services
levied on production/ sale of goods or provision of service. As there have been a number of intermediate goods/services, which
were manufactured/provided in the economy, the pre GST tax regime imposed taxes not on the value added at each stage but
on the total value of the commodity/service with minimal facility of utilisation of Input Tax Credit (ITC). The total value included
taxes paid on intermediate goods/services. This amounted to cascading of tax. Under GST, the tax is discharged at every stage
of supply and the credit of tax paid at the previous stage is available for set off at the next stage of supply of goeds and/or
services. It is thus effectively a tax on value addition at each stage of supply. In view of our large and fast growing economy, it
addresses to establish parity in taxation across the country, and extend principles of 'value- added taxation’ to all goeds and
services. It has replaced various types of taxes/cesses, levied by the Central and State/UT Governments. Some of the major taxes
that were levied by Centre were Central Excise Duty, Service Tax, Central Sales Tax, Cesses like KKC and SBC. The major State
taxes were VAT/Sales Tax, Entry Tax, Luxury Tax, Octroi, Entertainment Tax, Taxes on Advertisements, Taxes on Lottery /Betting/
Gambling, State Cesses on goods etc. These have been subsumed in GST.

Sub questions

Question Number : 481 Question Id : 226895667963 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1

Goods & Services Tax (GST) is which of the following type of tax?

1. Destination Based Tax.
2. Direct Tax.

3. Local Tax

4. Lump Sum Tax.

Options :

2268952589658. 1
2268952589659. 2
2268952589660. 3
2268952589661. 4

Question Number : 482 Question Id : 226895667964 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1
Which of the following feature of GST removes/reduces the cascading effect?

1. Destination Based Tax
2. Unified Tax

3. Input Tax Credit(ITC)
4. Unified Market,

Options :

2268952589662. 1
2268952589663. 2
2268952589664. 3
2268952589665. 4

Question Number : 483 Question Id : 226895667965 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1



GST is the amalgamation of which of the following taxes?

1. All Central taxes

2. All State Taxes

3. Large number of central and state indirect taxes
4. Large number of central direct taxes.

Options :

2268952589666. 1
2268952589667. 2
2268952589668. 3
2268952589669. 4

Question Number : 484 Question Id : 226895667966 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : S Wrong Marks : 1

From the following which product has been kept out from the GST ambit?

1. Gold

2. Silver

3. Luxury Consumables.
4. Tobacco.

Options :

2268952589670. 1
2268952589671. 2
2268952589672. 3
2268952589673. 4

Question Number : 485 Question Id : 226895667967 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : S Wrong Marks : 1

Why GST is considered as unified tax system?

1. Because it is combination of multiple taxes.

2. Because now country have only GST as indirect tax.

3. Because it brought uniformity in tax rate across the country.
4. Because it is a simple tax.

Options :

2268952589674. 1
2268952589675.2
2268952589676. 3
2268952589677. 4

Question Id : 226895667962 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix

Question Numbers : (481 to 485)
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Sub questions

Question Number : 481 Question Id : 226895667963 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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Options :

2268952589658. 1
2268952589659. 2
2268952589660. 3
2268952589661. 4

Question Number : 482 Question Id : 226895667964 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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Options :

2268952589662. 1
2268952589663. 2
2268952589664 3
2268952589665 4

Question Number : 483 Question I1d : 226895667965 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 5 Wrong Marks : 1
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Options :

2268952589666. 1
2268952589667. 2
2268952589668. 3
2268952589669. 4

Question Number : 484 Question Id : 226895667966 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : S Wrong Marks : 1
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Options :

2268952589670. 1
2268952589671. 2
2268952589672 3
2268952589673. 4

Question Number : 485 Question Id : 226895667967 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : S Wrong Marks : 1
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Options :

2268952589674. 1
2268952589675.2
2268952589676. 3
2268952589677. 4



